LMOL

LM_LE&%
LM_L Series

(SM _W Series)

LMEOL

HE S 1T

LME L& %1
LME_L Series

(KB _W Series)

#Z part No. v Main dimensions and Tolerance Bt =
5 Basic Load B =
marm (B o | AF | p NE | L nE | B 2% | w | b1 Rating  [eqcon-|Weight
Seal Type Ball Tolerance Tolerance Tolerance Tolerance C Co ricity (@)
y Circuit| (mm i) (mm) i (mm) m (mm) ) (mm) | (mm) N N
LM6LUU 4 6 12 0 35 27 1.1 11.5 | 323 | 530 16
LMBWU | 4 | 8 15 | 13 | 45 35 11 |14.3 | 431| 784 31
*LM10LUU| 4 10 0 19 55 44 1.3 | 18 | 5881100 62
-10 15
0 0
* 4 .

LM12LUU 12 21l ?6 S -0 46 | 400 | 13 | 20 |813]1570 80
LM13LUU| 4 13 23 ) 61 46 1.3 | 22 | 8131570 90
*LM16LUU| 5 16 28 70 53 1.6 | 27 |1230| 2350 145
*LM20LUU| 5 20 32 80 61 1.6 | 30.5 |1400| 2740 180
*LM25LUU| 6 | 25 _?2 40 _019 112 82 1.85 | 38 |1560| 3140 | 20 | 440
*LM30LUU| 6 | 30 45 123 89 1.85 | 43 |2490| 5490 480
LM35LUU 6 35 52 135 0 99 0 2.1 49 [2650| 6270 795
#maoou| 6 |40 | O | eo | 9, | 151 | 90 41| 300 Foq | 57 [3430] 8040 | 25 | 1170
LM50LUU 6 50 80 192 148 2.6 76.5 (608015900 3100
LM60LUU 6 60 0/-20 90 0/-25 209 170 3.15 | 86.5 |7550/20000| 30 | 3500

E: *ATERERMRRFR.

Note: *The ball retainer is made from steel or resin.

14

S Part No. Main dimensions and Tolerance | BERE | g8
Basic Load )
waim  |BKOUE dr NE D NE L Ne= B NE w D1 Ecjc%n- Rating | Weight
- Ball Tolerance Tolerance Tolerance Tolerance S € Co (@)
Seal Type |Circuit|(MM) | (um) (MM (um) (MM (um) (MM (uym) | (mmd|(mm)| ricity N N
LME8SLUU 4 8 +9 16 0/-9 46 33 1.1 | 15.2 4211 804 | 40
*#LME12LUU| 4 12 =1 22 0 61 0 45.8 0 1.3 | 21 | 15 |813|1570| 80
- - -4
kLME16LUU| 5 16 11 26 11 68 300 49.8 00 1.3 | 24.9 9211780 | 115
#LME20LUU| 5 20 -1 32 80 61 1.6 | 30.5 1370| 2740 | 180
kLME25LUU| 6 25 +13 40 _?3 112 82 1.85 | 38 17 |1570| 3140 | 430
KLME3OLUU| 6 30 _2 47 123 104.2 1.85 | 44.5 2500| 5490 | 615
*LME40LUU| 6 40 62 151 | 0 121.2| a 2.15 | 59 3430| 8040 | 1400
0 400 500 20
LME5S0LUU| 6 50 Jf_as 75 15 S 1552 2,65 | 72 6080/15900| 2320
LME6OLUU| 6 60 90 0/-20 | 209 170 3.15 | 86.5 | 25 |7550{20000| 3900
E: *AREEWMRETR.
Note: *The ball retainer is made from steel or resin.
15




